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Abstract: Here we correct some typesetting errors in ref. [1]. These corrections have

been implemented in the latest version of [1] on arXiv and the corrected equations have

also been reproduced in ref. [2] for the reader’s convenience. We clarify that all numerical

results presented in ref. [1] remain unaffected by these typographic errors.
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• Eq. (2.10) in ref. [1] should be

−L
q
Y = Q̄L(h

u
1Φ̃1 + hu2Φ̃2)uR + Q̄L(h

d
1Φ1 + hd2Φ2)dR

=
(
ūL , d̄L

) (
Φ̃1 , Φ̃2 ,Φ1 , Φ2

)
H

(
uR

dR

)
,

• In eq. (B.9), 3rd line, 2nd parenthesis should have an overall negative sign, i.e.

−
(
20g2

3
+ 45

8
g2
2
+ 85

24
g′2

)
y2t .

• In eq. (B.10), 6th line, the first term, i.e. −20λ1λ
2
3
, which is redundant with the 5th

term, should be removed.

• In eq. (B.10), last line, the 3rd last term should be +6y2t y
4

b .

• In eq. (B.11), 6th line, the first term, i.e. −20λ2λ
2
3
, which is redundant with the 5th

term, should be removed.

• In eq. (B.11), 6th line, the 6th term should be 3λ4 instead of 3λ3.

• In eq. (B.11), second last line, last term should be +6y2by
4
t .

• In eq. (B.12), 10th line, 4th term should be −5(3g2
2
+ 5g′2)λ3.

• In eq. (B.12), 11th line should have a leading factor of 2 and

the superfluos parentheses before the braces should be removed, i.e.

−2
{
2λ2

3
+ λ2

4
+ 4λ1(3λ3 + λ4) + λ2

5
+ 4λ2

6
+ 8λ6λ7

}
(3y2b + y2τ ).

• In eq. (B.13), last line, the brace for −9

2
λ4 term should end after y4τ .

• In eq. (B.14), 7th line, last term, the coefficient of λ5λ6λ7 should be 42 instead of 37.

• In eq. (B.14), 9th line, the coefficient of second term should be 45

4
instead of 45

2
.

• In eq. (B.15), 4th line, 2nd term should be −λ2
2
.

• In eq. (B.15), 8th line, 1st term, λ4 should be removed. Similarly, the λ4 after

14(λ1 + λ2 + 2λ3) should be removed.

• In eq. (B.15), 2nd last line, inside 2nd parenthesis, the 1st term should be 24λ1.

• In eq. (B.16), 4th line, the coefficient of the first group of terms should be −36λ3λ6.
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